Accelerated Math
Notes(5.6)
Graphing Proportional
Relationships
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**If the graph of the tw quantites is a straight
line through the originythen the two quantities
are proportional. N
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RY Constant of proportionality k
= Unit rate r

(1,r)

In a proportional relationship,

the point (1, r) tells you the

(0,0) constant of proportionality.

) So, what is the equation of this

line?
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A hot air balloon is at 140 feet and descends 20 feet per
minute.

A) Determine whether the height of the hot air balloon is
proportional to the number of minutes.
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The tree sloth moves at a speed of 6 feet per minute.
Determine whether the number of feet the sloth moves is
proportional to the number of minutes it moves by graphing
on the coordinate plane. Explain your reasoning.
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James earns $10 an hour babysitting.

A) Determine whether the amount of money James earns
babysitting is proportional to the number of hours he

babysits by graphing on the coordinate plane. Explain your

reasoning.

B)Find and interpret the t

constant of proportionality. |

C) Explain the meaning of

the point (3,30)
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Keith plants a seed. Every three days after the seed sprouts
he measures the height of the plant. The graph shows his
results.

A) Find and interpret the constant _n P / [
of proportionality. E e
EN (6,12)
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B) Explain what the point (6,12) means.
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